
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू म ेगाय 55 0 12 67 0 0 6 0 0 61

2 शçुक गाय 58 0 6 64 0 0 8 0 0 56

3 Ĥͧश¢ण हेतु 11 0 0 11 0 0 0 0 0 11

4 औसर 160 0 5 165 1 0 4 0 0 160

5 मादा बÍचे 40 10 0 50 0 0 4 0 0 46

6 सांड बछड़े 17 0 1 18 0 0 0 0 0 18

7 नर बÍचे 28 0 1 29 0 1 1 0 0 27

369 10 25 404 1 1 23 0 0 379

1 दधू म ेगाय 0 0 0 0 0 0 0 0 0 0
2 शçुक गाय 0 0 0 0 0 0 0 0 0 0
3 औसर 0 0 0 0 0 0 0 0 0 0
4 मादा बÍचे 0 0 0 0 0 0 0 0 0 0
5 नर बÍचे 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0

1 दधू म ेगाय 3 0 0 3 0 0 0 0 0 3
2 शçुक गाय 1 0 0 1 0 0 0 0 0 1
3 औसर 8 0 0 8 0 0 0 0 0 8
4 मादा बÍचे 2 0 0 2 0 0 0 0 0 2
5 नर बÍचे 5 0 0 5 0 0 0 0 0 5
6 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

19 0 0 19 0 0 0 0 0 19

दधू म ेगाय 11 0 2 13 0 0 3 0 0 10
शçुक गाय 20 0 3 23 0 0 2 0 0 21
औसर 17 0 1 18 0 0 0 0 0 18
मादा बÍचे 10 0 0 10 0 0 1 0 0 9
नर बÍचे 6 2 0 8 0 0 0 0 0 8
सांड बछड़े 6 0 0 6 0 0 0 0 0 6

70 2 6 78 0 0 6 0 0 72

eknk cPps 1 0 0 1 1 0 0 0 0 0

459 12 31 502 2 1 29 0 0 470

1 Ĥͧश¢ण हेतु गाय 15 0 0 15 0 0 0 0 0 15
2 सांड @cSy 74 0 0 74 0 0 0 0 0 74

89 0 0 89 0 0 0 0 0 89

1 Ĥͧश¢ण हेतु गाय 4 0 0 4 0 0 0 0 0 4
2 सांड @cSy 2 0 0 2 0 0 0 0 0 2

6 0 0 6 0 0 0 0 0 6

95 0 0 95 0 0 0 0 0 95

554 12 31 597 2 1 29 0 0 565
* TWH - TRANSFER WITHIN THE HERD.
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